MCA(Sem-l) —
CS (104)

2016

Time : 3 hours
Full Marks : 60

Candidates are required to give their answers in
their own words as far as practicable.

The figures in the margin indicate full marks.

Answer from all the Groups as directed.

Group-A
(Compulsory)
1. Choose the comect answer of the following :
http://www.biharpaper.com {x12 =12
(@) Which of the following is correct :
~)y P(AUB)<P(A)
(i) P(AnB)<P(A)
(i) P(AUB)2P(A)

(iv) None ofthe above

PY-14
5 (Turn over)

(b) In Poisson distribution, the reccurrence
relation for the probablliitics is

m

X + 1P(I)

D) P(x+1)=

() P(x+ 1= x—"_‘ P

(i) P(x) = —"—P(x - 1)
Xx-1

(V) P(x) = ?P(x 1)

(c) Foradistribution to be normal :
A Po=3 ntpz/www.biharpaper.com
(i) Pr>3
(i) B, <3
(iv) By <2

(d) The arithmetic mean of x4 and x, is

ﬂ_;;_xg__ The standard deviation of x4 and

X2 willbe:
. XiX2
(i) >

PY - 14/5 (2) Contd.



2

(i —— (g) Inasymmetrical distribution median Is equal
1+ X2
lo:
Xy = X
qim =22 Q. -Q
(v) —= Q +Q
X4 ~ X gy 2 ==2
— 2
(e) The most frequently occuring value is Q.Q
called : (1) 12
(i) Range (iv) None of the above

http:// . bi .
—() Mode p//wwiw.biharpaper.com (h) Forthedata: http://www.biharpaper.com

(ill) Median

X 14
(iv) Mean 1 5
() The coefficient of variation is equalto: 5 4
X 3 3
o} .
iy = x100 4 2
_—Aii) %
v, 5 1
I | ’
(i) Ex 00 The value of correlation coefficient between
X xandyis:
(v) —
0 (n 1

PY - 14/5 (3) (Tum over) PY - 14/5 (4) Contd.



(i) ©
i) -1
(iv) 2

() F-lestisusedtotest:
() Hg:p=pq

(i) Hg-o?=op
() The equation xe* —xsinx = 0 is the example

. 2 2
of - (iii) Hg: o] =0,
' /(N} Hy : the fit is good
(iy Linearequation .
Group-B
(i) Algebraic equation p

_(iily Transcedental equation Answer any three of the following questions :

(iv) None ofthe above 6x3=18

@ The real root of the equationx® - 2x-5=0

2. Find the arithmelic mean, standard deviation
lies between : http://www.biharpaper.com

and coefficient of variation of tha first n natural

(i) Oto1 numbers. http:/www.biharpaper.com
(i) 102 . 3. Show that the correlation coefficient is
~(lli) 2103 independent of the change of origin and scale.
(iv) 3to4 -
. . . 4. Showthal E(x +y) = E(x) + E(y).
(k) The probability of committing type | erroris .
M o 5. Find the value of .12 using Newton — Raphson’s
e '(")‘ﬂ - n"ﬂthd.
(iit) [ 6. What do you mean by Analysis of Variance
vy f Technigue ? Give the assumptions involved in it.
PY - 14/5 (5) (Tum over), PY - 14/5 (6) Contd.



' Group-C 11. Define the following :

(a) Null hypothesis and alternative hypothesis
Answer any three questions of the following -

jecti ion and acceptance region
10x3 = 30 (b) Rejectionreg

(c) Type lerorand Type |l error
7. What do you mean by the central tendency

(d) One-tailed test and two-tailed test
of the data ? What are its measures ? Describe

—_—
them, |
' http://'www.biharpaper.com
8. Derive Poisson distribution as a limiting case of

binomial distribution. Obtain its moment

generating function. http://www.biharpaper.com

9. Showthat the rank correlation coefficient is given

2
by y=1-9Z4"
n3—n

10. Solve the following system of simultaneous

linear equations using Gauss's ellimination
method :

oxX+2y+4z=7
Ix+5y+8z=0

2X—4z=_2 g
PY - 14/5 (200) (8) MCA(Sem.-))
PY - 14/5 (7)
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